@MFJNH’D

W maeyo-l0oks.00.p  mase w ey

B ER{EZEaL vy ME TR RE

Accepts ER standard collets

B FAIILR—ILR AT RE
Coolant through body

(CAPTOY ¥ >%)

ER aLybFyokILE

ER Collet Chuck Holder
(CAPTO Shank)

/_

- @ JL

L
CODE L § d1 d2 RANGE (¢ ) BEE (ke)
PSC32 x ER16A-45 64 45 28 28 1~10 0.20
x ER20A-45 64 45 34 34 1~13 0.30
PSC40 x ER16A-70 94 70 28 28 1~10 0.40
x ER20A-52 76 52 34 34 1~13 0.30
x ER25-52 76 52 42 42 1~16 0.40
x ER32-54 78 54 50 50 2~20 0.50
PSC50 x ER16A-100 130 100 28 28 1~10 0.90
x ER20A-55 85 55 34 34 1~13 0.50
x ER20A-100 130 100 34 34 1~13 0.80
x ER25-55 85 55 42 42 1~16 0.50
x ER32-57 87 57 50 50 2 ~ 20 0.60
x ER32-100 130 100 50 50 2 ~ 20 0.90
PSC63 x ER16A-100 138 100 28 28 1~10 1.30
x ER20A-60 98 60 34 34 1~13 0.80
x ER20A-100 138 100 34 34 1~13 1.29
x ER25-60 98 60 42 42 1~16 0.90
x ER25-100 138 100 42 42 1~ 16 1.30
x ER32-70 108 70 50 50 2 ~ 20 0.80
x ER32-100 138 100 50 50 2 ~ 20 1.50
x ER40-65 103 65 63 63 3~ 26 1.10
PSC80 x ER20A-65 113 65 34 34 1~13 1.40
x ER25-70 118 70 42 42 1~ 16 1.60
x ER32-70 118 70 50 50 2 ~ 20 1.80
x ER32-160 208 160 50 50 2 ~ 20 2.00
x ER40-70 118 70 63 63 3~ 26 2.30
x ER40-160 208 160 63 63 3~ 26 4.10
x ER50-80 128 80 78 78 6 ~ 34 4.60
BFYMMIFBLTOET A, abyk, LUFIZRIBRITEX T,

Comes with collet nut, purchase collet & wrench separately.




@MANYI UNEW |

HARAYHIIURIILRILY
(CAPTOL %)

B FAILR—IL 3 ISR RE

Coolant through body Side Lock Endmill Holder

(CAPTO Shank)

SR —
l h
L
CODE L I 12 13 14 15 di d2 T B8 (k)
PSC32 x SLN6-45 64 45 18 - 35 29 6 25 M6 0.30
x SLN8-45 64 45 18 - 35 29.5 8 28 M8 0.30
x SLN10-50 69 50 20 - 39 35 10 35 M10 0.40
x SLN12-55 74 55 225 - 38 40 12 42 M12 0.30
PSC40 x SLN6-50 74 50 18 - 35 25 6 25 M6 0.40
x SLN8-50 74 50 18 - 35 26 8 28 M8 0.40
x SLN10-50 74 50 20 - 39 275 10 35 M10 0.50
x SLN12-55 79 55 225 - 44 35 12 42 M12 0.60
x SLN14-55 79 55 225 - 39 35 14 44 M12 0.60
x SLN16-55 79 55 24 - 37 35 16 47 M14 0.70
PSC50 x SLN6-50 80 50 18 - 35 25 6 25 M6 0.60
x SLN8-50 80 50 18 - 35 25 8 28 M8 0.70
x SLN10-55 85 55 20 - 39 30 10 35 M10 0.70
x SLN12-60 90 60 225 - 44 38 12 42 M12 0.90
x SLN14-60 90 60 225 - 44 37 14 44 M12 0.80
x SLN16-60 90 60 24 - 43 39 16 48 M14 1.00
x SLN18-60 90 60 24 - 45 - 18 50 M14 1.00
x SLN20-60 90 60 25 - 43 40 20 52 M16 1.00
x SLN25-80 110 80 24 25 58 60 25 65 M18 1.80
PSC63 x SLN6-55 93 55 18 - 35 28 6 25 M6 0.90
x SLN8-55 93 55 18 - 39 28 8 28 M8 0.90
x SLN10-60 98 60 20 - 39 33 10 35 M10 1.00
x SLN12-60 98 60 225 - 44 33 12 42 M12 1.10
x SLN14-60 98 60 225 - 44 33 14 44 M12 1.10
x SLN16-65 103 65 24 - 47 40 16 48 M14 1.20
x SLN18-65 103 65 24 - 44 40 18 50 M14 1.20
x SLN20-65 103 65 25 49 40 20 52 M16 1.50
x SLN25-80 118 80 24 25 58 58 25 65 M18 1.90
x SLN32-90 128 90 24 28 58 63 32 72 M20 2.40
x SLN40-100 138 100 30 32 75 78 40 90 M20 3.70
PSC80 x SLN6-70 118 70 18 - 35 35 6 25 M6 2.10
x SLN8-70 118 70 18 - 35 35 8 28 M8 2.10
x SLN10-70 118 70 20 - 39 35 10 35 M10 2.20
x SLN12-70 118 70 225 - 44 35 12 42 M12 2.20
x SLN14-70 118 70 225 - 44 35 14 44 M12 2.30
x SLN16-70 118 70 24 - 47 35 16 48 M14 2.30
x SLN18-70 118 70 24 - 44 35 18 50 M14 2.30
x SLN20-70 118 70 25 - 49 37 20 52 M16 2.30
x SLN25-90 138 90 24 25 58 59 25 65 M18 2.40
x SLN32-95 143 95 24 28 63 63.5 32 72 M20 2.90
x SLN40-110 158 110 30 32 75 79.5 40 90 M20 450
x SLN50-120 168 120 35 35 78 90 50 98 M24 5.50




@MAN:D

W sy 10ols.cop  maem own gy

PSCHO—5> Y TFS54 1=y PSC Coolant Supply Unit

CODE TYPE L I di T BE (k)
140.950 PSGC32 224 | 10 | 495 M12 x 1.5P 0.07
141.950 PSGC40 258 | 12 | 595 M14 x 1.5P 0.01
142.950 PSC50 | 2835 | 14 7 M16 x 1.5P 0.015
143.950 PSGC63 31 15 8 M20 x 2.0P 0.027
144.950 PSGC80 313 | 15| 10 M20 x 2.0P 0.026 .
L

H—S52 Tty A 4H1) 21— Coolant Preset Screw

CODE TYPE A BE (ke)
16083C ER16 | M10x 1.5P-15 0.005 T
16085C ER20 |M12 x 1.75P-15 0.01 o T
16089C | ER25, 32 | M16 x 2.0P-15 0.01 tll—ﬁ
16091C ER40 | M20 x 2.0P-15 0.03 ! [ — ‘
16093C ER50 | M24 x 2.0P-15 0.05 1
J)tyb X4 12— Preset Screw
CODE TYPE A = (ke) .
16083 ER16 | M10 x 1.5P-15 0.01 N
16085 ER20 |M12 x 1.75P-15 0.01 <
16089 ER25, 32 | M16 x 20P-15 0.03 ! LL—_—U
16091 ER40 | M20 x 20P-15 0.03 -L 15 -‘
16093 ER50 | M24 x 2.0P-15 0.05
L >F Wrench Y
CODE | TYPE | +wrE | L B | EE (kg)
04609 | ER16A 28 140 | 53 0.15
04610 | ER20A 34 160 | 60 0.20 « (—)

CODE TYPE | FobE | L B | EE (kg)

04615 ER25 42 206 | 65 0.22 L

04616 ER32 50 253 | 75 0.30

04617 ER40 63 289 | 90 0.50

04618 ER50 78 351 | 110 0.90 2,
NUT TYPE | N-m

04502P ER16A 40

04503P ER20A 60

04508P ER25 80 FurHEREEFRILY

04509P ER32 110 Recommended Tightening Torque

04510P ER40 130

04511P ER50 200




o
-

@MEND

W ey o100k CO.[p  mase m ey

B # ¥ (material) : SCM#+

B 2403 (heat treatment)
Sx 54 (shank side) : HRC56~60°
75244 (blank side) : HRC25~30°

509

(CAPTOY ¥ >%)

Blank

(CAPTO Shank)

D
I
—; :
! I o
I1
CODE D di § 12 BE (ko)

PSC32 x¢ 32-90 32 32 90 - 0.53

x@ 60-90 32 60 90 75 1.65
PSC40 x¢ 40-120 40 40 120 - 1.30

x¢ 80-120 40 80 120 100 412
PSC50 x¢ 50-150 50 50 150 - 2.38

x@ 95-150 50 95 150 130 7.60
PSC63 x¢ 63-180 63 63 180 - 4.56

x¢ 120-180 63 120 180 158 145
PSC80 x¢ 80-200 80 80 200 - 8.30

x@ 145-200 80 145 200 170 23.3
PSC80X x¢ 145-200 100 145 200 168 23.2

- HROY—IL
I Jo)D=-=)) Hkt 2%t
MANYO TOOLS CO.,LTD.
oy, T619-0216 REBAAE TR A6 T HAE

TEL.O774-66-4246 FAX.0774-66-4247
U R L:http://www.manyo-tools.co.jp
E-mail:info@manyo-tools.co.jp

4, 6-CHOME KUNIMIDAI KIZUGAWA-SHI KYOTO, 619-0216 JAPAN

PHONE.+81-774-66-4246 FAX.+81-774-66-4247




